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B BBl RBE 4 4 82| 18.2] 63.8BG &
2EB =F B=E 4 42| 83| 15.0| 68.0/&
ML | KE == 40| 45| 85| 17.0] 68.0/&
N 49 47 96| 28.0| 68.0/ &
561 [#£@ HHH 45 45 90| 21.7| 68.3|&
6L |;hA H#E—ER 42| 40/ 82| 13.0/ 69.0/BG
L B8 BF 39 51 90| 20.0/ 70.0
8L |fEE FE 43 43] 86| 15.9] 70.1
s A% & 47| 48] 95| 24.8] 70.2
1062 |[RA 1EF 42| 42] 84| 13.5] 70.5|&
116 [EAXx BE 4 48/ 89| 18.0/ 71.0
1261 |28 =& 48] 42] 90| 19.0] 71.0
136 MMl B— A 44 47) 91| 20.0] 71.0
1461 Rt B 49 45 94 23.0] 71.0
1561 | F&k RIC 46|  44) 90| 17.9] 72.1
166 [ILA — 43 47] 90| 17.5] 72.5
176 | KE & 42| 44) 86| 13.0] 73.0
18461 @@ & 43 47) 90| 16.9] 73.1
1962 | KB AEBE 53 49/ 102 28.0] 74.0
20 |Bn A= 48] 46] 94| 19.8] 74.2|&
20160 3T F— 471 49] 96| 21.7] 74.3
221 |[E&  FF 43 51 941 19.3] 74.7
260 EAEXR BA 44 52 96| 21.1] 74.9
2441 |5RE B 44 43] 87| 11.5] 75.5
2561 |EAX A 47 46| 93] 17.5] 75.5
26 [[E =ER 42| 47 89| 13.2] 75.8
271 |%8F% BEKER 45 46/ 91| 15.0] 76.0
2861 | KF =W 59| 47| 106| 30.0] 76.0
296 lhO f#2z 49 49] 98] 21.7] 76.3
06 |5 HIF 41 47 88| 11.5] 76.5|&
L (MR #E a7 M 88 11.3] 76.7
R0/ [EH B= 1 49/ 90| 13.0/ 77.0
R | BF BE 44 47) 91| 14.0] 77.0
Mz |/ BR# 47 48] 95| 18.0] 77.0
B |FEH FEE 48] 47] 95| 18.0] 77.0
361 |{EmE BBF 49| 46| 95| 17.5] 71.5
37 A =EB 45 46| 91| 13.2] 771.8
8z |FHEH =i 48] 45| 93] 15.0] 78.0
9 [EE R’ 47/ 52] 99| 21.0] 78.0
4061 /N == 53] 53] 106 28.0/ 78.0/&
NI |[FFH REB 49| 48] 97| 18.4] 78.6
25 [FH F— 44 48] 92| 13.1] 78.9
3 Bl REE 49| 51| 100 21.1] 78.9
I 46]  49] 95/ 16.0 79.0
4561 [#BK  BER 45 48] 93] 13.8] 79.2
461 K BEF 49| 51| 100 20.7] 79.3
41 B 270 45/ 51 96/ 16.0/ 80.0
8 BR B 48] 52/ 100 20.0| 80.0
O [ HE 51 50/ 101| 21.0/ 80.0

P-1 EMAY ) —H5T




1AE

HEE A fI+F Bif

2025/07/13 (H) 16:15

2025 £ 7 R 13 B (A)

BMEAE BT A FTEUHIRR -

HDCPERE: (B8) (&)

= LN

ouT IN

=

I 5z B E4 Bl OUT | IN |GROSS| HDCP | NET
504 |AELL i 48] 50/ 98] 17.3] 80.7 &
51 |EE EH 52|  44) 96| 15.0| 81.0
520 [ E ERXx 49| 51| 100 19.0] 81.0
53 | #ER 48] 56/ 104| 23.0| 81.0
A 45 48] 93] 11.7] 81.3
55 |HER FRE 48| 46] 94| 12.3] 81.7
561 &R  #A 48] 48] 96| 14.0 82.0
571 B HF &E 48] 48] 96| 14.0 82.0
581 A R 44 55 99| 17.0] 82.0
50 (%@ U 46| 53] 99| 16.5 82.5
606 [FE = 51 45 96| 13.2| 82.8|&E
612 (1B RRX 471 62] 109 26.0] 83.0
625 HHF EE 60/ 53] 113 30.0/ 83.0
63z [t BB 52| 48] 100/ 16.8] 83.2
641 [BA —% 49| 52| 101 17.5 83.5
656 |HE MBE 53| 53] 106 22.1] 83.9
666 |FAR BA= 57| 47) 104 19.6| 84.4
676G [l KIE 59| 51| 110 25.0] 85.0
686 =ZE &H 44 54| 98] 12.7] 85.3
696 | KiE =& 53| 56/ 109 22.8] 86.2
106 (AR —% 52| 57| 109 22.1] 86.9/&
76 [[|E —EB 51 56| 107| 18.8] 88.2
1271 |Ei§ 1EEE 52| 52| 104| 15.7| 88.3
136 A 5 62 52/ 114] 22.0] 92.0/BB
146 | R#EE B 60| 64 124] 29.2] 94.8
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